QB365-Question Bank Software

SET-1
Series GBM Code NO 56/1
S .
Roll No. ?a;;ﬁ;qaﬁg@a]ﬁ TR 5 FE

Candidates must write the Code on the
title page of the answer-book.

e FNIERATFTIFA-FHILIIB 152 |

o THUA H T FU H AR U T Hig T I B IT-IEhR o JE@-I8 W
ford |

o FHA AA F T Toh 30 TATT H 26 T F |

o THUAT YT T I fT@AT I[& T | Uge!, U9 1 shATeh vy ford |

o IH YHUA I UG o 1€ 15 e o1 TH TG =1 8 | Y9 I O gaiE
T 10.15 & foham M@ | 10.15 S ¥ 10.30 S b B haed YIH-UF i TG
3T 39 AT & G o ITR-GFEdehl T hig 3T & o1 |

e Please check that this question paper contains 15 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

WA e (fgr=e)

CHEMISTRY (Theory)

RgRa a7 : 3 av2 STferHaTH 3% : 70

Time allowed : 3 hours Maximum Marks : 70

56/1 QB365-Question Bank Software P.T.O.




=T BT QB365-Question Bank Software

(i)
(i)
(1it)
(iv)
(v)
(vi)
(vit)

Yt o7 7Hart & |

o7 GEIT1 & 5 T 3d TY-IFHRIT 97 & 3R I J97 & 170 1 37% & |
97 G&IT 6 T 10 TH TG-ITR1 T97 8 37K Jed% J97 & 1070 2 37% & |

o7 G&IT 11 G 22 TF 4 TY-I70F F97 & 3K e 97 & 70 3 37 & |
o7 GEIT 23 JATIIRG F97 & 37K 567 110 4 3% & |

97 G&IT 24 G 26 T FH -3 F97 8 K JdP J97 & 1070 5 37% & |
277?’;775’??7%75’?, @ T 2T BT T B | depoicll & IqAT Bl AFET
TG |

General Instructions :

(V)
(ii)

(i11)

(iv)

(v)
(vi)

(vii)

56/1

All questions are compulsory.

Questions number 1 to 5 are very short answer questions and carry

1 mark each.

Questions number 6 to 10 are short answer questions and carry 2 marks
each.

Questions number 11 to 22 are also short answer questions and carry
3 marks each.

Question number 23 is a value based question and carries 4 marks.

Questions number 24 to 26 are long answer questions and carry 5 marks
each.

Use log tables, if necessary. Use of calculators is not allowed.

|1z HNO, GRI P, &1 SR i T S BEHRA H1 A e Jrdl 2,
3T IF faRan |

Write the formula of the compound of phosphorus which is obtained when
conc. HNOg oxidises P,.

fretafad s o1 ofs. g d.w . W fafav .

H,C - clz - (f—CHZ—OH
CH; Br
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Write the [UPAY B aSo ok eiion Bank Sofware
H,C- C = C-CH,-OH
.
CH; Br

3. (a) @RI el (E,), 3R
(b)  Afufsean K filsst S (AG)
W I <kl IufeAfd o1 T gwTd gedT B ? 1

What is the effect of adding a catalyst on
(a) Activation energy (E,), and

(b) Gibbs energy (AG) of a reaction ?

X

X > SN o o
4. @ R O/ T § -8 Ufedleis 81ge I 3w § 2 1
X

X
Out of @ and O/ , which is an example of allylic halide ?

5. 39 ¢d i 319 T Uifdea o Siar 8, df T YRR T hicdise s9qT & 2 Th
3gret dif | 1

What type of colloid is formed when a liquid is dispersed in a solid ? Give
an example.

6. (a) T=faRaa AR *I A% 37 G & §d §C A H Faiedd
SHifTT
p-*ﬁ?ﬁ?f, p-?l?zﬁtﬁﬁﬁ, AT
(b) Freffad sl & (gEer IR s F1 IR w0 gu) Gty
forRem
H,O0" .
CHy=CHy — CHz- CH, + H,0 1+1=2

HAYAT
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FH-2-ATA hl ARG o HY HATGRAT & o dTcl IcdTgl ohl FT=ATG
o 1+1=2
(a) CrOgq

()  SOCl,

(a)  Arrange the following compounds in the increasing order of their
acid strength :

p-cresol, p-nitrophenol, phenol

(b)  Write the mechanism (using curved arrow notation) of the
following reaction :

H,O* 1
CHy=CH, ———— CHg~ CH, +H,0

OR

Write the structures of the products when Butan-2-ol reacts with the
following :

(a) CrOg
(b) SOCl,

Ufufg % 81 g # fohat Uhe whifsgehd gt Al TG Heteh-ohfrgd B
(v =5, ) TteT # foheeefiehd B1aT B 2 (Al ST 9THTY] GeWH = 27 g mol 1) 2

Calculate the number of unit cells in 8:1 g of aluminium if it crystallizes

in a face-centred cubic (f.c.c.) structure. (Atomic mass of Al =27 g mol 1)

freferiga = ww=aTd sifed ifaa 2
(a)  HySOgq

(b)  HCIOgq

Draw the structures of the following :

(a)  HySOgq

(b)  HCIOq
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39 9 1 99 fArEe o amr=ra: Sau 931 (T8R) B SYh a1 a1 8 | 39

TS o UAS qAT hefle T BH aret Tfufshanati @i fafau | 2

Write the name of the cell which is generally used in hearing aids. Write
the reactions taking place at the anode and the cathode of this cell.

311 W W.H1. Hehi 1 JART Hd §E FHHIRad o T 3 fReT : 1+1=2
(a) Hifean SEEEMSRANA])
(b)  TUFHFANEITEE-N-"AfeTm(IV) Tethe

Using IUPAC norms write the formulae for the following :
(a)  Sodium dicyanidoaurate(I)

(b)  Tetraamminechloridonitrito-N-platinum(IV) sulphate

(a)  STAUAMVeh Al h Yehid o MUR W =fcfgd =1 sl ffepd
faforen wretgs, AT

(b) T HE W ZnO Tl &1 S & | F=I 2

() 9 12-16 AfiERl ¥ =1 IR 8 2 Th I8 SfSU | 3
(a)  Based on the nature of intermolecular forces, classify the following
solids :

Silicon carbide, Argon
(b)  ZnO turns yellow on heating. Why ?

(c) What is meant by groups 12-16 compounds ? Give an example.

(a) T gt fomd ffafaa sifufsean gt 2
2 Fed* (aq) + 217 (aq) —— 2 Fe?* (aq) + I, (s)
wzgsqutE;a=o-236V%|@aaﬁqmaﬁwﬁe—gfmﬁ
gftefera hifore | (feam T 2 : 1 F = 96,500 C mol ™)

(b) dfe Uk wrfeaeh ar # 0-5 VfEweR <1 @ 2wt & forw yenfya gt B, @
IR H A fored sorergia afgd g 2 (eI M= 2 : 1 F = 96,500 Cmol ™) 3
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(a)

(b)

(a)
(b)

(c)
(a)

(b)

(c)
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The cell in which the following reaction occurs :

2 Fe?* (aq) + 217 (aq) —— 2 Fe2* (aq) + I, (s)

o

has Ecell = 0-236 V at 298 K. Calculate the standard Gibbs energy

of the cell reaction. (Given : 1 F = 96,500 C mol 1)

How many electrons flow through a metallic wire if a current of

0-5 A is passed for 2 hours ? (Given : 1 F = 96,500 C mol 1)

"R [Co(NH;)5 (SCN)|?+ fope b <hl EreTereran femmar @ 2
[NiC1,]12~ STqgsehid B Sfeh [Ni(CN), |2~ wferjerehia & | =il 2
(Ni 3T TRHTY AT = 28)

1 skl Sqshah T whd F1 fotel € <' ST ® ?

1x3=3

What type of isomerism is shown by  the complex

[Co(NH,)s (SCN)J2* 2

Why is [NiCl4]2_ paramagnetic while [Ni(CN)4]2_ is diamagnetic ?

(Atomic number of Ni = 28)

Why are low spin tetrahedral complexes rarely observed ?

ffaied o 9 % % s Th-U It [

(a)
(b)
(c)

(a)
(b)
(c)

qgATMVeh HIAise R TR HIA5S
The 3R U (TRTEAEH)
FATT IR0 SR fawmrft ISR
ST
3 <1 itfared Sereen 3fi e qem fafen |
Mfdes srfersnyor ot g rfeenye & = we gamar fafE |
FeCly ¥ Fe(OH), |id sl a4 areft Tamafe fafer 1 am fafag |

QB365-Questiors Bank Software

1x3=3

1><3=3



15.

16.

56/1

, _ B365-Question Bank Software
Write one difference in each of the tollowing :

(a) Multimolecular colloid and Associated colloid
(b)  Coagulation and Peptization

(c) Homogeneous catalysis and Heterogeneous catalysis

OR
(a)  Write the dispersed phase and dispersion medium of milk.

(b)  Write one similarity between physisorption and chemisorption.

(c) Write the chemical method by which Fe(OH)g sol is prepared from
FeCls.

25% forsH & fow wer wem wife iy srfufsran 20 fide ot & 1 srfvfsmen =1
75% G0 S H S THA T, IHeh! U] FHifoT, | 3
(fe=m TRIT 2 : log 2 = 0:3010, log 3 = 0-4771, log 4 = 0-6021)

A first order reaction takes 20 minutes for 25% decomposition. Calculate
the time when 75% of the reaction will be completed.

(Given : log 2 = 0-3010, log 3 =0-4771, log 4 = 0-6021)

Iraeht ffaRaa ifies few e 2 -

2SIAIU=H, 2-§HI-2- 0o, 1-5HIu=e

(a) SN2 AR § H® ferk STTshamier AR 1 9 faRay |

(b)  gav o ANk 1 W foafem |

(¢) p-factiym srfufsren o =@ 1t rfufsramsfiar Mfie o1 9m fafaw | 1x3=3

The following compounds are given to you :
2-Bromopentane, 2-Bromo-2-methylbutane, 1-Bromopentane

(a)  Write the compound which is most reactive towards Sy2 reaction.

(b)  Write the compound which is optically active.

(c) Write the compound which is most reactive towards (-elimination
reaction.
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17. f=fatega & faghd faee 1x3=3
(a) TS YRS
(b) WA T fafyr
(c)  duicIRgeh

Write the principle of the following :
(a)  Zone refining

(b)  Froth floatation process

(c) Chromatography

18. Tyeaffaa sifufansti § A, B aer ¢ Afien! o wwamd frfiau - %xg:g

NH;/A Br,/ KOH (aq) CHClg + ale. KOH
(a) CH3;-COOH A B

NaNO,/ Cu Fe/HCI CH,COC1/ fufidm
(b) C H,N;BF, 2 A = B/ =2

A

Write the structures of compounds A, B and C in the following reactions :

NH,/A . Bry/KOH (aq) CHCI, + alc. KOH
(a) CH,-COOH A B

NaNO,/Cu . Fe/HCI . CH,COCI/pyridine
(b) C4H,N;BF; 2 A =S B —3 =

A

19. FHIRET Sgctehl 1 T A o AT TYH Tohetehi shl HLEMTE A Raq : 1x3=3
(a) TEAH-6,6
(b)  HAATEA-HIHICSETSS TgAh
() =1-S

Write the structures of the monomers used for getting the following
polymers :

(a) Nylon-6,6
(b)  Melamine-formaldehyde polymer
(¢)  Buna-S
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20. T=fRad s GRS HiSQ 1x3=3
(a) UM STIHTSI
(b) o wergn wfasifors
(¢  qlfaud
Define the following :
(a)  Anionic detergents
(b)  Limited spectrum antibiotics
(c) Antiseptics
21. F=fRad % HRO FAET : 1x3=3
(a) AT BIEHIE, o BIEHRH i g1 § A TThamsiiar giam 2 |
(b) Bl hl soieReH oAfedr AT Afeeray FumcHs Bt & |
(©  NyOs, N,Oy %l 19T fees 3Tt 2 |
Give reasons for the following :
(a)  Red phosphorus is less reactive than white phosphorus.
(b)  Electron gain enthalpies of halogens are largely negative.
() NyOgis more acidic than NyOs,.
22. F=fIRad % HRU FART : 1x3=3

(a)  Ufefi w1 UEfifectientor saeht @fshan yuTa w0 L B |
(b) CHgNH,, CH-NH, & gar # 31ferh & gran 2 |

(¢ Fafd -NH, 998 ofp Fc¥ Biar 7, R oft e msgeptor g weme
HET § mAEEN e et & |

Give reasons for the following :

(a)  Acetylation of aniline reduces its activation effect.

(b)  CH3NH, is more basic than C;H;NH,,.

(c) Although -NH, is o/p directing group, yet aniline on nitration
gives a significant amount of m-nitroaniline.
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Al § Th T F IS qA GH SR 3Gl H GIREH SiHe 3R qiefem

IATRAEE A Fral (FEThIY) AT i Iufeyfa e & a1g, ®9Tell, Sadl
el H DA, 4 gEU I WG H 37 HaSH | A AT JIieR IWTEl o6
I H S A h1 e TR | 98 Tgd guHEr @ el st 3 e
TR fob 9 =8 IR & W < fob a7 fommft =t defam, fusen, sl
3N g oY IU1E 4S9 | GUMMETE J Tehldd heH 3oTd 8 hred Sehgl ohl
SRl IcAGT T e F© T W@ faeilid 8 W @r-ueed S %, 99,
i gered T 1 ey fean | 38 fofw o |l wrar-fuan qen feenfomn
w@ra foRa |

39 IS I Ted < 1e, FfaRad sl & 3T G

(a) T g fohd qoail (HH-G-HW 1) <l G T8 ?

(b) AR ¥ SIS T HIAIGIESH I HIH-Hl UTAHHUTS Th IUFEYd BT B ?
(c) I <t fgeiareh ¥%=mT % 41 SR fofE |

@ et foerg faefimt & < semr dfvm |

After watching a programme on TV about the presence of carcinogens

(cancer causing agents) Potassium bromate and Potassium iodate in
bread and other bakery products, Rupali a Class XII student decided to
make others aware about the adverse effects of these carcinogens in
foods. She consulted the school principal and requested him to instruct
the canteen contractor to stop selling sandwiches, pizzas, burgers and
other bakery products to the students. The principal took an immediate
action and instructed the canteen contractor to replace the bakery
products with some protein and vitamin rich food like fruits, salads,
sprouts, etc. The decision was welcomed by the parents and the students.

After reading the above passage, answer the following questions :
(a)  What are the values (at least two) displayed by Rupali ?

(b)  Which polysaccharide component of carbohydrates is commonly
present in bread ?

(c) Write the two types of secondary structures of proteins.

(d)  Give two examples of water soluble vitamins.
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24. (a) :
(i) TshHYT GTqe IRGIT STTeRfeRtor STaeemd guridt 2 |
(i) Zn, Cd 3% Hg 74 (¥g) &gy 7 |

(i) Mn3*/MnZ* W % T E° &1 91 Cr3*/Cr2* & qo | 5ga
3fersh &I (+ 1-57 V) BT 2 |

(b) AATIE 3R UfFeAras dawdi o TR % std Teh GHMHAT TR Th FH
ferfeT | 3+2=5

T
(a) Trafafaa 3d Soft & dspaur grgeti o A B
Ti4+ V2+ Mn3+ CI'3+

(9] SRR : Ti = 22, V= 23, Mn = 25, Cr = 24)
Frafafea & s ffv -

() HH-E AR S fooTa °§ ge@ 3tfees TR @ i = 2

(i) HIF-HET T Y SR 3 T =T ?
(iii) <hH-HT 3T TEH & 3T 1 2
(b) FfcTfaa SHieRtEn sl 9 HIT

i 2MnO, +16H"+58* ——

(i) KMnOy — 3+2=5

(a)  Account for the following :
(i) Transition metals show variable oxidation states.
(ii) Zn, Cd and Hg are soft metals.
(iii) E° value for the Mn3*/Mn?* couple is highly

positive (+ 1-57 V) as compared to Cr3+/Cr?*.

56/1 QB365-QuestiomBank Software P.T.O.
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(b)  Write one similarity and one difference between the chemistry of
lanthanoid and actinoid elements.

OR

(a)  Following are the transition metal ions of 3d series :
Ti4+ V2+ MH3+ CI'3+

(Atomic numbers : Ti = 22, V = 23, Mn = 25, Cr = 24)

Answer the following :

(i)  Which ion is most stable in an aqueous solution and why ?
(i1)) Which ion is a strong oxidising agent and why ?

(iii) Which ion is colourless and why ?

(b)  Complete the following equations :
i 2MnO, +16H'+58% ——

(i) KMnO, —neat

25. (a) TPE $ 10% (ZWHE H) Seiy faoaq &1 iZamh 269-15 K2 | I g
STt @1 TgATeh 27315 K &, 1 9 % 10% St faeeH & fgams i

AT i |
ﬁEITTIEIT%:

(P8 =T AR GeI9H = 342 g mol 1)
(TR ST AR Ge9WH = 180 g mol 1)

(b) T=fafga gei = gftafyg i -
(i) HiedT (m)
(i) STEMHT HITR geqH = 3+2=5

YT
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(a)

(b)
(a)

(b)

(a)

(b)

(a)
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30 g @M (M = 60 g mol™!) 1 846 g JIcA | Hiewm w1a 7 | Afg 298 K
W G A h A gF 23-8 mm Hg 7, a1 39 foerq & fow 5@ &
TS 2Te T Tiehedd hifoTy |

af1eyl faera 3R 3MTes faeed & o9 @ 3far fafey |

3+2=5

A 10% solution (by mass) of sucrose in water has a freezing point of

269-15 K. Calculate the freezing point of 10% glucose in water if

the freezing point of pure water is 273-15 K.

Given :

(Molar mass of sucrose = 342 g mol 1)

(Molar mass of glucose = 180 g mol 1)

Define the following terms :

(1)
(ii)

Molality (m)

Abnormal molar mass

OR

30 g of urea M =60 g mol 1) is dissolved in 846 g of water.
Calculate the vapour pressure of water for this solution if vapour
pressure of pure water at 298 K is 23-8 mm Hg.

Write two differences between ideal solutions and non-ideal
solutions.

frefaRaa sifwufsransti & 3eaer @i fafaw .

1)

(i1)

(iii)

0)

(j + HCN — ?
COONa

©/ +NaOH%?

(a) DIBAL-H

CH,- CH = CH-CN
(b) H,O

?

QB365-QuestiomsBank Software
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(b)

(a)

(b)

(a)

(b)
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frrfifiad ST TR § fvie F01 % foT0 aeet Tamif e AR ;

1)
(ii)

A R FA-2-31
g A IR AT

YA

ffeiiad o 8 arelt Atufsmast =i ke :

1)
(ii)

freafafga = 39 AfeRaw 2 =N ° fore YehR TR Ul

(1)
(ii)

(iii)

3erS AfYfshan
TR 3TT=EH

~

dsIgeh 3TF] ¥ dedicealse

TGN & Sl 3T

TIATgh A T 2-BT3SIFHIUITSeh 3TFA

Write the product(s) in the following reactions :

(i)

(ii)

(iii)

0)

O¢ + HCN — ?
COONa

©/ +NaOH%>?

(a) DIBAL-H
(b) H,0

CH,- CH=CH-CN ?

3+2=5

24+3=5

Give simple chemical tests to distinguish between the following
pairs of compounds :

(i)
(i1)

Butanal and Butan-2-one

Benzoic acid and Phenol

OR

QB365-QuestionsBank Software
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(a)

(b)
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Write the reactions involved in the following :

(1) Etard reaction

(i1) Stephen reduction

How will you convert the following in not more than two steps :
(i)  Benzoic acid to Benzaldehyde
(i1) Acetophenone to Benzoic acid

(iii) Ethanoic acid to 2-Hydroxyethanoic acid

0B365-QuestionsBank Software
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Marking scheme — 2017
CHEMISTRY (043)/ CLASS Xl
Outside Delhi set (56/1)

Q No. Value Points Marks
1. H;PO, 1
2. 2-Bromo-3-methylbut-2-en-1-ol 1
3. a. Decreases Y
b. No effect %
4. X 1
5. Gel e.g. cheese, butter, jellies (any one) Yo+ Y
6. a. p-cresol < Phenol < p-nitrophenol 1
/H\N II—I ITI 1
+ p o
>c=Ccl + H%—H — —(ls—c: + H,0
b.
OR
6
O 1
e
a CHj
b.
3
CHj
7. n= given mass / molar mass %
=8.1/27 mol 1%
Number of atoms= % X 6.022x10%
Number of atoms in one unit cell= 4 (fcc)
Number of unit cells = [ x 6.022x10°"] / 4 %
= 4.5 x10% %
Or
27g of Al contains= 6.022x10%* atoms %
8.1g of Al contains =( 6.022x10%° /27) x 8.1 %
No of unit cells = total no of atoms /4
=[x 6.022x10%°] / 4 %
=4.5 x10% Y
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8. 1,1
I“/' >
\
S
'no/_/ \ o)
9. Mercury cell 1
Anode : Zn(Hg) + 20H>Zn0(s) + H,0 + 2 %
Cathode : HgO + H,0 + 2e™> Hg(l) + 20H" %
10. (i) Na[Au(CN),] 1
(ii) [Pt(NH;)4Cl (NO,)]SO, 1
11. (a) Covalent solid / network solid , molecular solid VRS
Heating _ ,, }
(b) ZNO ——Zn~"+1/2 O, +2e
Because excess Zn>* ions move to interstitial sites and the electrons move
to neighbouring voids 1
(c) Compounds prepared by combination of groups 12.and 16 behave Yo
like semiconductors. For eg ZnS, CdS, CdSe, HgTe (Any one) %t
12.
(@) AG®=-nFE%, %
n=2
AG®= - 2 x 96500 C /mol x 0.236 V %
=- 45548 J/mol
=-45.548 kl/mol %
(b) Q=1t =0.5x2x60x60 %
=3600C
96500 C = 6.023 x 10* electrons
3600 C = 2.25 x 10* electrons 1
13. (a) Linkage isomerism 1
(b) In [NiCls]* ,due to the presence of ClI', a weak field ligand 1
no pairing occurs whereas in [Ni(CN)4]2' , CNis a strong
field ligand and pairing takes place / diagrammatic
representation
(c) Because of very low CFSE which is not able to pair up the 1
electrons.
14.
(@)
Multimolecular colloid Associated colloid
(a) Aggregation of large (a) Aggregation of large 1
number of small atoms or number of ions in
molecules. concentrated solutions.
(b)
Coagulation Peptization
(a) Settling down of colloidal (a) Conversion of precipitate
particles. into colloidal sol by 1
adding small amount of

0B365-Question Bank Software




QB365-Question Bank Software

electrolyte.

(c)

Homogenous catalysis

Heterogeneous catalysis

(a) Reactants and catalyst

(a) Reactants and catalyst

are in same phase. are in different phases. 1
OR
14 (a) Dispersed phase-liquid , Dispersion medium — liquid 1
(b) Both are surface phenomenon / both increase with increase in
surface area (or any other correct similarity) 1
(c) Hydrolysis / FeClz+3H,0-----"Y4"s _> Fa(OH)5(sol)+3HCI 1
15. 2303, [A]o %
t =———log
ke[l
. 2303 100 .
20 min =4 logE - (i) v
100
2303, -
t =——logas -(ii)
%
Divide (i) equation by.(ii)
20 _ 2303 0 100 |
t k 97 v
2303 ) g
% 08125
=log 4/3
log 4
20/t'=0.1250/ 0.6021
t=96.3 min 1
(or any other correct procedure )
16. (i) 1- Bromopentane 1
(ii) 2-Bromopentane 1
(iii) 2-Bromo-2-methylbutane 1
17. (a) Zone Refining — Impurities are more soluble in the melt than inthe | 1
solid metal.
(b) Mineral particles are wetted by oils forming froth while gangue 1
particles are wetted by water and settle down.
(c) Different components of a mixture are differently adsorbed onan | 1
adsorbent.
18. (a) (A) CH;CONH, %
(B) CHsNH, %
(C) CHsNC ) %
@\U
=
(b) (A) %
o8
(B) ~ 12
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(C)

I
H—N—C—CH,

Y

19. (a) H3N-(CH,)e-NH, , HOOC-(CH;)4-COOH 1
(b) 1
H,N j//N\'(;'\iH
Ny
\'/N
e and  HCHO
(c) CHy=CH-CH=CH, , CgHs-CH=CH, 1
20. (a) Anionic detergents are sodium salts of sulphonated long chain
alcohols or hydrocarbons / alkylbenzene sulphonate or
detergents whose anionic part is involved in cleansing action. 1
(b) Limited spectrum antibiotics are effective against a single
organism or disease. 1
(c) Antiseptics are the chemicals which either kill or prevent growth | 4
of microbes on living tissues.
21. (a) Red phosphorous being polymeric is less reactive than white 1
phosphorous which has discrete tetrahedral structure.
(b) They readily accept an electron to attain noble gas configuration. | 1
(c) Because of higher oxidation state(+5) of nitrogen in N,Os 1
22. (i) Due to the resonance, the electron pair of nitrogen atom gets
delocalised towards carbonyl group / resonating structures. 1
(ilBecause of +| effect in methylamine electron density at nitrogen
increases whereas in aniline resonance takes place and electron 1
density on nitrogen decreases / resonating structures. 1
(iii)Due to protonation of aniline / formation of anilinium ion
23. (i) Concerned , caring, socially alert, leadership ( or any other 2 Yo+ %
values) 1
(ii) Starch Y+
(iii) a -Helix and B-pleated sheets Yo+ %
(iv) Vitamin B/ B1/ B,/ Bg / C (any two )
24. a. (i) Availability of partially filled d-orbitals / comparable energies of ns 1
and (n-1) d orbitals
(ii) Completely filled d-orbitals / absence of unpaired d electrons cause | 1
weak metallic bonding
(iii) Because Mn** has d® as a stable configuration whereas Cr¥*is | 1
more stable due to stable t*,
b) Similarity-both are stable in +3 oxidation state/ both show
contraction/ irregular electronic configuration (or any other suitable |1
similarity)
Difference- actinoids are radioactive and lanthanoids are not /
actinoids show wide range of oxidation states but lanthanoids don’t |1
(or any other correct difference)
OR
24 a. (i) Cr**, half filled tyg Y+ Vi
(i) Mn®", due to stable d® configuration in Mn?* Yo+ Vs
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(iii) Ti**, No unpaired electrons Y+
b. (i) 2MnO, + 16H" +55> 55 + 2Mn’* + 8H,0 1
(i) 2KMn0O,~> K,MnO, + MnO, + O, 1
25 a) ATi=Kim 2
Here, m =w,x 1000/ M,XM,
273.15-269.15 = K¢ x 10 x1000/ 342 x90 1
K =12.3 K kg/mol YA
AT;=Kim
= 12.3 x 10 x1000/ 180x90
=7.6K
T¢=273.15-7.6 =265.55 K (or any other correct method) 1
b) (i) Number of moles of solute dissolved in per kilo gram of the solvent. 1
(ii) Abnormal molar mass: If the molar mass calculated by using any of the
colligative properties to be different than theoretically expected molar 1
mass,
OR
0 0 _
25. @ (P —Py)/Pf = (wp XMy)/(Mpxwg) %
238~ Fy (30 x'18) /60 x 846
—_— = X X
238 !
23.8—P; = 23.8 X [(30 X 18) /60 X 846]
%
23.8— P, = 0.2532
P, = 23.55mmHg 1
(b)
Ideal solution Non ideal solution
(a) It obeys Raoult’s law (a) Does not obey Raoult’s
over the entire range of law over the entire 1+1
concentration. range of concentration.
(b) Amix H=0 (b) Amix H is not equal
© Bmix V=10 t00.
(c) Amix |74 is not equal
to 0.
(any two correct difference)
26. a.
OH
1
CN
(i)
@ 1
(i)
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(iii) CH5-CH=CH-CHO
b. (i) Tollen’s reagent test: Add ammoniacal solution of silver nitrate
(Tollen’s Reagent) in both the solutions. Butanal gives silver mirror
whereas Butan-2-one does not.
(ii) Add neutral FeCls in both the solutions, phenol forms violet colour
but benzoic acid does not.

(or any other correct test)

OR

26

(a) (i)Etard reaction

CH, i CH(OCrOHC), ) CHO
+ GroL—ts ©/ o B @

Tolue.s= ; Chromium complex Benzaldehyde
or
CH, . CHO
©' (i) cro2ci2, cs2 @/
—_—
Tohiene lii}H30+ Bengaldehyde

(ii)Stephen reaction

«

H.O
RCN + SnCl,'+ HCl —> RCH = NH ‘——>R

Or
{i) SnCl: + HCI
RCN - _ RCHO
(ii) H:0+
(b) (i)
COOH COoCl1 CHO
S0CL, - Rﬂs&nmgnﬁ'ﬁ
reduction
Pd/BaSOy,
Benzoic Benzoyl Benzaldehyde
acid chloride
(i)

COCH; COONa COOH
@ 1./NaOH @ H,O* @
_— s e
Acetophenone Sodium Benzoic

penzoate acid

o~
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Clz /P KOH(Aq)
(c) CH3 COOH—> CH, COOH ——— CH, COOH

| I
cl OH

(or any other correct method)
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